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PART - III
gneuredwey / BOTANY

(O wHmb phide el / Tamil & English Version)

are yeTey : 3.00 wenfl GBI | [ Qs wHlbuemser : 70
Time Allowed : 3.00 Hours | [ Maximum Marks : 70

SiNleyenrsst : (1)  mandgl eNaTés@ph sflwursl udleurdl 2 GTaTET GTeLISEnE sfluTTgsS
Qamerereyld. sFsLILSeNe @Gampuilmuilen, e samsranflumemflib
o L angwis sflellése. ‘

2) Beob Sdegy smuy owlea LLHCWL TWHUSDED
2 &CsTHeaugsHGn uwaudss GCeuam@Hd. UL BSET cUENTEUSM (S
Quenfled LweTUHSSeD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

U@l - 1/ PART - I
@O : (i)  Sevensg eflamés@ps@En eflaLwelléseib. 15x1=15

(ii) GCer@ésiul@Gerer wrpm elmLseild Wseabd ghymLw el mwus
Csip0sH5516 GHUILHLer el ullamanyn Cardg er(pseyLb.
Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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ahs meenuifl Qedy seu D@D Wwhmith aueni e sghdld Qurflias wplen”
Gurerpid @G ?

() @ rédurée Numkiser («21) <opdiqGarrentoF1L_en
(@) swCamuréeNumsar () enwasGasmlearmeviom

The micro-organism which lack cell-wall and appear like “Fried Egg” in culture
18 !

(@) Archaebacteria (b)  Actinomycetes

(¢} Cyanobacteria (d) Mycoplasma

@ @HCuravQuid sraursdar eneanwigw GErrCwrGsmd aaraisams 14
aafle), isar smapar Haelld o drar GOrTCwICserd cranaléms :
(1) 7 (<) 14 (@) 42 () 28

The haploid number of chromosome for an angiosperm is 14, the number of
chromosome in its endosperm would be :

(a) 7 b) 14 (c) 42 (d) 28

SLULUSSID 6TETD UMTSmSeL (pSenpsadld LwauBSHweur :

(=) umellen (<=,) T.D. enagarGam
(@) srirert (FF) jeveomm(

The term ‘Vernalization’ was first used by :

(a) Purvis (b) T.D. Lysenko |
(c) Garner (d) Allard

anambCaHmg Wb 1EEsMEE THESHEETLH

(<=1) Lrirevieeflusm (<=,) Bflwbd
(L)) eemusen () edluyésev
An example for Hypanthodium inflorescence :

(a) Dorstenia (b) Nerium
(c) Ficus (d) Leucas
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: 16432

QmQarh Quwflé® papenul M psiu@sSweur :

(1) sravuri urabler (<) QuBsTD WHHID anOEST
(@) &Grrevev &SlenGeruiav (FF)  GTaaTi LoHmILD Glymestig cb
Rinomial nomenclature was first introduced by :

(a) Gaspard Bauhin (b) Bentham and Hooker

(c) Carolus Linnaeus (d) Engler and Prantl

Qsdsaedan el umiw LG wrflows smasdd caTar® SN D& (EHLD
LrsmsEsh, SIGE @hon AGsANmbs LDLTEEHNEG @b Auwisg) Cdw
Epsanamid saapnisefler erg) sflwirang ?

(1) SUAESET LHMID LTsHsT SmEGh @heh Guib duuiuddams.

(<) OGP LHDID UrShiseT DARIGD GBEGD @b Quuirdlerpen.

(@) SLA@seT 2fgTs ShEGD GRIEW @Lib Qurdlemen, LTSEIGET Di0.
(F) Lrsmiser SimiGw @REG0D @@L Quuirdlemmer, eNIEHEET SHeve.

Keeping in view the fluid mosaic model for the structure of cell membrane, which

one of the following statements is correct with respect to the movement of lipids

and proteins from one lipid monolayer to the other.
(a) Neither lipid nor proteins can flip-flop

(b) Both lipid and proteins can flip-flop

(c) While lipids can rarely flip-flop proteins cannot

(d) While proteins can flip-flop lipids cannot

Bwrdevdlarn (peiier ergamen Gl QFevger o (HeurdleTmes ?

(1) 2 ()3 (&) 4 (7)) 5
At the end of meiosis number of daughter cells are produced.
(a) 2 (b) 3 (c) 4 (d 5
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8. Qs aranp yrsgeos apseapsedld euflensubsdlweu :

('3‘\‘) o“nL.J(AUL... 3““;]83" (:Qb) GG)GUGUTGT.U o’oun'QS]féJ

(@) oot Canf) (7)) Gegrammenet wpedLit
First protein, insulin was sequenced by :

(@) Fred Sanger (b) Linus Pauling

() Robert Corey (d) Johannes Mulder

9. arage fas QsmElider Lefl :

(1) Bymelics Cuns, (<) eumyy uforhob

(@) srsw swrlssa (/) B wHmD e avamel HLESHSD
The function of vascular tissue is :

(a) Loss of water (b) Exchange of gases

(c) Synthesis of starch (d) Conduction of water and food.

10. eupssonss, GUA ssms, adldmbg surfssiuddps 2

(231) ceEuevevld | () o cLluGartgen

(8) emgaid () eurav@esd Gewi@wid
The common bottle cork is a product of :

(a) Phellem (b)  Phellogen

(c) Xylem (d) Vascular cambium

11. @eadgimer HpliL| cTags eTibsg ?
(@) Qumiirdlub swefller o drgmpey
(<) QuriLrélun Swefluifer QeualGupmid
(8) @Cemmany( Siwafuflen 2 arpempay
() emaplgréadle sweflllen 2 drpempay
Stomata of a plant open due to :
(@) Influx of Kt
(b) Efflux of Kt
(c) Influx of C1-
(d) Influx of OH-
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12. QuUmmsES

13.

(1) wredlldgend (i) wFemswb

(2) &IHSHISD (ii)  CwgsHGureflen
(3) Qusefdlwid  (iii) <ysHer

(4)  &QooLIT (iv) enplGrredlGemenn
(1) (1)-(1), (2)-(i1i), (3)-(iv), (4)-(ii)
(=) (1)-(i1), (2)-(), (3)-(iii), (4)-(iv)

(@) (1)-(iv), (2)-(iii), (3)-(i), (4)-(ii)

(7)) (1)-(iv), (2)-(ii), (3)-(1), (4)-(iii)

Match the following : |

(1) Molybdenum (i) Chlorophyll

(2) Zinc (ii) Methionine

(3) Magnesium (iii) Auxin

(4) Sulphur ‘(iv) Nitrogenase
(a) (1)-(i), (2)-(iii), (3)-(iv), (4)-(ii)

(b)  (1)-(i1), (2)-(0), (3)-(iii), (4)-(v)

(c) (1)-(v), (2)-(iii), (3)-(), (4)-(ii)

(d)  (1)-(v), (2)-Gi), (3)-(), (4)-(ii)

C, spndluded mierpud geutlem(m CO2 (gneuasaaxga;@ss@m GgeneuliLi(b ATP
phmib NADPH eramanfléens : .

(1) 2 ATP + 2 NADPH (<24) 2 ATP + 3 NADPH

(8) 3 ATP + 2 NADPH () 3 ATP + 3 NADPH

For every CO, molecule entering the C; cycle, the number of ATP and NADPH

required is :
(a) 2 ATP+ 2 NADPH (b) 2 ATP+ 3 NADPH

(c) 3 ATP+2 NADPH (d) 3 ATP+3 NADPH
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14, sapmi: < &AmCGearpp wravuflar e oot G mer_Murelles 6ravaimes

15.

sLgmi simflauilér men Qumding

snrewnd osdleard CoA urevuflayasinami g sslafls oblawrs gem UGl LIm(perT

unecvuflarangasnd penlumdng.

(<) Sahml wHpd srewnd af), sryewnd sapmissten sflurar eflaTEs0.

(<24) SabEI HMID SITERTD &1 @D SNTETID Sapmsanen silwTer flaTéaweae.

(@) s=apm o D SNTETID Seugy.

() SapOml WHHILD SMTERTID Heum).

Assertion (A) : Oxidative phosphorylation takes place during the electron transport

chain in Mitochondria.

Reason (R) : Succinyl CoA is phosphorylated into succinic acid by substrate

(a)
(b)
(c)
(d)

phosphorylation.
(A) and (R) are correct, (R) is correct explanation of (A).
{A) and (R) are correct, but (R} is not the correct explanation of (A).
{A) is correct but (R) is wrong.

(A) and (R) are wrong.

@l G)enEaET (PLSETTS LOTYILITL L BEIeTere.

=) @eeuld LIEhE

<24, ueTEAILIT

(
(
(@) L L]
(

) Gloumkigmuid

Leaves become modified into spines in

(a)
(b)
(c)
(d)

Silk cotton

Opuntia

Peas

Onion

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

7 16432 |

U@ - I/ PART - 11

GooyY : stemeuGuign) b M e ErsE W (HLD Aen_wellsEa)b. eSlerm erewr
6x2=12

24 -5@ sL_Lnuwrs ofewalssab.

Note : Answer any six questions. Q. No. 24 is compulsory.

16.

17.

18.

19.

- 20.

21.

22,

elflwurer - cuenwmIGse L.

Define virion.

§55E LDTHDLD GTETmMed GTeoTen ?

What is alternation of generation ?

Aemer Lflawrmoedwed eTemTed ereorer ?

What is cladistics ?

gl L6 - eUeTUMISSa|D.

Define Amitosis.

Brreill Curées Greﬁrg)nsb GTEoTEn ?

What is transpiration ?

Senengy mlanGeanméduflan Gramh cemssmar 6 (Hgis.

Name the two types of electron microscope.

Boasasno gand wopd 6o @oosasndo sa® CaupLBbss.
Differentiate phylloclade and cladode.
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23. gallunavufsyantb erampid erevien ?

What is photophosphorylation ?

24, QpHbus® Sreurmsea GTENMITQD GTEbTGn 7

What are long day plants ?

u@d) - III / PART - III

GOy : aCaeub sym canrés@rsE o walssan. eflamr eram 33 - 1G)
sSLLmwions efenwaflése, . 6x3=1¢

Note : Answer any six questions. Q. No. 33 is compulsory.

25. QaesCsmfla smby erannmd erarar ? THSSIEETH H(HS.

What is phyllode ? Give an example.

26. ClaniyCrrélavBadr eremmmed eraman ? Bipen Lewnf wrg ?

What is heterocyst ? Mention its function.

27. ewanL Car( eremmmed eremenm ?

What are hydathodes ?

28. wrGeanrensadld wHHID 9&Camesadls ComuBss)s.

Differentiate manoxylic and pycnoxylic.
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9

owCursrarNwur Qaded SpHped [Hlene b 6T GO 1) &wmp&zﬁuu@eﬂmg;] -

SNTERTD S s,

Mitochondria is called ‘Power house of the cell’. Give reason.

Classify Plant Growth Regulators.
Hes0sTGUIL TDTED GTETE ? SISET CUMNSSET WTEne ?

What is tissue system ? Write its types.

EpsaaT_aupiinG SFsTHSET 5(Ha.

(21) @@ eueTOHD WETHSSSTET

(<) @M SLLIE Qevanbs LO&THSS s

(8) warbssTETEdT 106 EHDHEHLE Qaabseme
Give the technical terms for the following :

(a) A sterile stamen
(b) Stamens are united in one bunch

(c) Stamens are attached to the petals

ariFgien i Cubudss UL elmarey ereammmd eremear ?

What is Emerson’s Enhancement Effect ?
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ety DS, ‘>f‘1‘~"’-“5‘ﬁ~!\$fﬁ#~(§)zb e wafidmab

Note

34,

35.

36.

uEdl < IV ] PART - 1V
5»5=25

Answer all the questions

() mpeefiCafian o muomppbd LuHH eNeufasas.

SV F|
(=) Grmtlea 1-d ursdeedn wHmb UGarmeat LHDH 6TPHIS.
fal Explain the modification of tap root system.

OR

(b} Write about Pachytene and Diplotene of Prophase L.

(<) flpd sewiy I wpmib Apd sewoliy Il Cupu®sss.
NSV

(«=) Slpy auena wEhsfleow eflerd@s.

{a) Wnte the difference between photosystem I and photosystem 11,
OR

(b} Explain the special type of inflorescence.

(&) ewsac gresggden Galen fardoal g Carmmsems LLLD euenIhg LTaLD
@ hléaab.
S|V g)

() Gowjgiman apHise, dnssgissnar Kt ewallen sLgse Carlumigenan
A

(a) Draw the L.S of cycas ovule and label the parts.

OR

(b)  Explain the theory of K* transport dealing with opening and closing of stomata.
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3%(éﬂﬂ@%mm$mg@%m-&mwmmmmmmHﬂmﬂmmm-

38.

{060
(=) Elevengsrenavatiay PSS 1D cuens.

(a) Write the botanical description of Ricinus communis.

OR
(b)  Write the flow chart of glycolysis.

(1) gurellenseflen cumpeuicy efenereysenar TGS
V6V '
() () cueaetwtiser, efeufssayb.
(a) Write the physiological effects of Gibberellins.
| OR

(b) Explain annual rings.

-00o0-
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